| FRHRANN (d=F) AT=D / T=TINYFLX 50%x50

System
Manual Swivel (Tilt) Stages / Table Size 50x50

Products

E%R

Industrial

RERA
Experi-

Manual
Stage

STOSA-C1T STO5A-C1B STOS5A-C1S
STO5A-C1M STOS5A-C1L

[ElEn

Rotation

@STO5A-C1T ©4 Depth Smm Clamp $15
T 8-M3 Depth 5mm

® <4 '
& & Micrometer Head
° |

(12)

B8 2
ATF—=Y ||
Motorized
Stage A d

40
30

X XY
XeXY

(0.5)
8

(5) 50 (43)

@5ST05A-C1M @sT05A-C1B

; Rotation Center Rotation Center

50

[ElEA

Rotation

68
86

18 _

ZAR)L
(I=#)
Swivel
(Tilt)

7354
XU~
2=
XY6

Bz (5) 50 (43)

25—y @ST05A-Cc18 40
Vacuum 30 Clamp ®15

4-for M3 screws 40
Shaft Length 3mm

18

© BKqHZU ©)

l o b 9

el
[l40

A\\a!
N

4-for M3 screws 140

=I-‘
Shaft Length 3mm |

18

4-for M3 screws
Shaft Length 3mm

Stage

(12)

HIHEE
Control ¢ é T o or

Electron- ©
ics

®
©

0
40
30

£—5— © ]

avhk0-5 Micrometer Head
Motor * L
Controller A ==
ISSEON \ 8-M3 Depth 5mm

Ry IR
Driver 4 Depth 5mm
Box

77U
T—v3av
Applica- @STO5A-C1L

tion — el B
T—5— Rotation Center ; Rotation Center

RSN\
Motor
Driver

T-9—
T=I

Motor ) ©
Cable -

©

<

LN
[ [©
(=]
o asir

(43

50

68

\\§Il

N

ﬁﬁ 0 LN LA 7 00 10 10
Appendix - -

4-for M3 screws 140 X ‘<> e @ <>‘ _‘;@»
7t Shaft Length 3mm L © ©)| L,
o 4-for M3 screws [Jao

A_ccesso— Shaft Length 3mm
res

=

=

RE
VAT I
Inspection
System

G-022 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



PAR1IRA0=-FA4 K /34702322 3-KL o ) () @) 3

Aluminum Body / Cross-Roller Guide / Center-Mount Micrometer

EXA
Industrial
BR
STO5A-C1T STO5A-C1M STO5A-C1B STO5A-C1S 31 STO5A-C1L %2
Model Number -
SB(VE o
Mi BFEOER X STO5A-C1T-R STO5A-C1M-R STO5A-C1B-R STO5A-C1S-RRR STO5A-C1L-RRR Experi-
irror Model Number mental
F—7)E
Table Size SOmm>S0mm e
ESNVoE BEI/OAO—FHAN AT—Y
Guide Mechanism Cross-Roller Guide ikl
— Stage
B -
Angular Range - §)>((YY
e 50mm:£0.2mm 68mm:£0.2mm 86mm:£0.2mm 50mm:£0.4mm 68mm:£0.4mm
ork Distance
EER AR . . 7
Rotation Center Error 0.05mm/+3 ®0.1mm/£3 :
BR/ANGEAHEL) 0.1°(N\—=+)
Minimum Readout 0.1° (vernier)
~ 0.0095°/B& (C1T) |~ 0.0073°/B&(C1M) Ol#n )
B[] ~ 0.0095°/B8% ~ 0.0073°/B8% ~ 0.0059°/B88% ~ 0.0073°/B8(C1M) | =~ 0.0059°/82 (C1B) Rotation
Angular Motion ~ 0.0095°/div ~ 0.0073°/div ~ 0.0059°/div ~ 0.0095°/div (C1T) ~ 0.0073°/div (C1M)
& 0.0073°/div (C1M) & 0.0059°/div (C1B)
E—XUMBIME |, . .
Moment Load Stiffness 0.31 arcsec/N-cm 0.92 arcsec/N-cm
IKIETRE
Load Capacity (Horizontal) 29.4N (3kef)
HE FNIA
Material Aluminum Alloy
S8 Bt
Finish Clear-Matt Anodizing XeXY
aE XXY
Weight 0.21kg 0.42kg
EREN AT YATOX—ZAYK (13mm)
Actuator Micrometer (13mm) %
5 y
clean 2 7 AR STO5A-C1T-C STO5A-C1M-C STO5A-C1B-C STO5A-C15-C STO5A-CIL-C
ean Room Lubricant Model Number
= 7l J] _
oo =T ALERE STO5A-C1T-V STO5A-CTM-V STO5A-C1B-V STO5A-C1S-V STOSA-CIL-V B8
lacuum Lubricant Model Number Rotation
51 STO5A-C1Si&. STO5A-C1TESTOSA-C1MDFEAEHETY . %3 BFEV. EROMBFICOVTIEG-004X—2E2BRB LTI,
) Combination of STO5A-C1T and STO5A-C1M form 2-axes swivel stage model : Refer to page G-004 for Information on Standard and Mirror Symmetry
STO5A-C1S. Configuration. X{N)b
sp STOBACILIE. STOSA-CIMESTOSA-CIBOMAEHETY. seq ATAUVAT—VBEOE—A Y MAEO—VBIEE B Y T, G-
) Combination of STO5A-C1M and STO5A-C1B form 2-axes swivel stage model : Moment Stiffness of single Swivel stage is measured in Roll Direction. (Tilt)
STO5A-C1L.
7354
N P2
B2 AEHROBKIEEKEIC -V PRFEFET. F#HICDOVTIXC-003X— AF=

o F—N—R—IBICEBHRIIEENEEA. FHRICOVTHIEN—D%S
BLTTFEW (X1 70X =AY REF—/N—FR—ILHRHNERVET) . SEBRLTTZL, XY
Additional parts cost is not included on Overhaul cost. Refer to page 16 for Vacuum lubricant model has “-V” at the end of model number. Page C-003 for

further information (Micrometer is not included in the overhaul). further information.

o IU=20) AEHROBRIEREIC “-C" PRHEET. F#MICDULTIFC-003 o PEBRDODCERZICKHRDBESL K FT .
N=2%BRUTTEL, FLSIIEEBETBHVEDETZ.

Clean room lubricant model has “-C” at the end of model number. Page C-003 for We appreciate the product customizing. Contact us for further information.

further information. T oY UICDVTIEO-001 "= U #BELTFEL,
Refer to page 0-001 for information on accessory.

tT-5—-
Jvho-35
Motor
Controller

RSA4N
Ry IR
Driver
Box

77U
TF—ay
Applica-
tion

tT—9—
[NE A
Motor
Driver

E==
=
Motor
Cable

1153
Appendix

BEOWAEDEIE*TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp G-023



